Sr Questions Answers Choice

1 Which term of the genetric squence 3,6,12,24....... is 3847
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2 Find teh missing termis 7,11,13,17,19.......... 25.
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3 In the arithmetic sequence 7,10,13................. the 20th term is

Linear
Cubic
Biquadratic
quadratic

4 Polynomial 3y2 is
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5 If 3y-x = 4, find the value of y , when x=2

6 If x +y = 6, x-y = 2, then x=?
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Limited
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7 The sequence that goes on forever is called.

8 The fourth term in the sequence 1,4,9............ is

9 The fourth term is geometric sequence 4,-16,64....... is

10 The fifth term is geometric sequence 1,2,4,8.....is

1" The polynomial xy2x3 has variable.

12 The degree of a cubic polynomial is.

13 The point (1,-1) is in quadrant
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14 The pointg(-1,2) is in the qardant.

X-axis
.y - axis
C.Bothaandb
D. Original
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15 The graph of the equations y =3 is parallel to






